Winmeen VAO MISSION 100 | DAY - 2

G 6vfleu_lg

G6vfl 6UL_Lg (SI) = (PNR)+ 100

Simple Interest - SI

100 X ST

SI&6V (P) = ———
UL igefEid (R)= 100X
ST6LLD (N) = 1(;0XXR51
Principal = P,

Rate of Interest = R% per annum (p.a) - €2(Ih 34,6001(H &S

Time = N years => &T6VLD

Sl euLlly  STEUTUSDHHTET  MAUHH HHIHTMSELL QRIS
Qar@&suuL(hetangl. (WHeW elarmesefler SglusnLuiled geofleul Ly
umm @G SmessrGUITLD.

e (h Q8760 & LI 60T &)l 2 gonbhseafleo  geaflailig el &g & dev
Ce&GEHLULUGHMG. 2CH QFTMS 3% Hswnar geaflallly aisHHev
CFEHGSUILLLTEL , eHUTWI 300 AHSHLMET 6uUlly HlevL &G Cleflev,
CE&SUILBLD CQHITEMS 6T60T60T?

(A) €5 5000
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(B) €I, 4000
(C) €, 10000

(D) €5 1000

S.! = PNR + 100; P=? ; N=2; @l lg e&GLD X 6T651&. 3%
allly &g HsHEGL CUTH el lg NHFLD =
(X+3) %

Sy = Px2x(X) % + 100

S, = Px2x(X+3) % + 100

S.ly- Sl = 300

Px2x(X) % + 100 - Px2x(X+3) % + 100 = 300
(P2X-P2X+6P) + 100 = 300

6P = 30000

P= 5000

allemL : A.) 5000 (LTI

5000 & 1% euL_lq i55Hl6L 1 YETHSHG 50 (HUTUL. 2 66015 & EHSH S
100 (HUMW. euLlly 6§D 3% AHSHSSLILULLTD 1% + 3% = 4% .4%
eIl 1pafgd erefley @@ SLaH&HE 200 (HUTW. QIan® aTHSHS
400 (HUML.@\T6soT (B &HGHLD 26T GHHWTEFLD 300 (HLITLL.

GMIUY : @G GOMMHS LULFIONS 1% alllg afsld, 1 S,60(H SHTeuLd
M6USH ) GCendH 5 g umj&@GLeurGs ellenL HeoL 58|
il L g|.Cogpid  (pFHL puFENGeL 5000 Q@HHHTL allemLmul
iMw etefllemwowing QmHSH G
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e SLD :

Gepl 2 2013 Qe GosLsUULL  @Qeuaermedled SIF6L  6T6U6I6NT6Y
6T6TLENSHS  SHmevor  Ceueiui(HD.  Heofl  eULlg  6T6OTLHTEL  66)GI6UM(IH
SEnhL @; GOUINLL QFmms WLGWL QILgurs AH&HSS5HE
Q&FeLYILD.

SIHGHEISSTLLITS (BUTL 1000 $@& 5% Ll efHHHeL 2 U IHEHS
SeoiLiwl Ceuein(hCInesNe, (P&HL 6HT(h 5% = 50 (UL, @MF6UILTLD
Sy 5% = 50 (BUM. & eeubleum(d (D S50 (HLIML
995 NEHS CQHMEIICL  QFeLEID. 5 Y6IHSET 61651160 5 * 50 = 250
(THLIMTLLL.

QaT(RSSUIULL eNermelled S e(h&eT = 2; 6l ly G 3% AHHSHESL
UGHmE 616orm WLEGHCWL 2 661G, PMSWTL Qb elermalnd
ugled  slafsHmaued LSHe0eL (Option) QBHHID IN6ML6MUIS  SHiT6sor
@uievILd .

H6ofl QUL 145 GLD Fol (b QUL g5 (GLD 2-6Tem GeumU(p :

3156V 1000 (HLUITW 6uL_lq aNHIHLD 10%

3, 6001(H G 6ofl euL_1q Fal_(h 6UL lg
1 100 100
2 100 100+10=110
3 100 100+10+1=111
QLTS HLD 300 321

Qm@sten gl Leusmeuiulled QBHE BMD Q5HHEH  CsmeTeuS)
6T60T63TGl6L63TMITEL

1. (PS5 YEI(HHG 6ol QL IqU|Dd Fal (B UL Iquiesr LOSILILD FLOLD.
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2. QUL US| S 600Tq.60 &evfl 6UL lquiest O LOMTMITLOEL 100 (HLIML
91955816 QFLILD. CLPEITMITEUS| H600Tlq 6VILD 100 (HUMT NH&HSEI&
Q&FeLYILD.

3. 960160 Fal (B Ul lquiled Ul Ig&HE eully UumjsHs  Geusn(pLd.
@G TD  Q46001lq.60 L_lg 100 (HUMI LOMMID (P&EVMLD 6501l 60T
QILIgHG 6eullg 10 (hUM Q& CmGSHD 110 (UM, QCH Gumem)
CLOGOTMIMLD  SY600Tlq 60 6UL_lq. 100 (LML, @QTESUILMLD o4,600Tlq.60T 6L 145G
QlLlg UMI&SM6L, (110 CHUMLSES 6ULlg = 11) Y& CIDTHHLD 111 (HUITL.
&6t 6L lg = PNR/ 100 ; P=1000; N =3 ; R=10% ;

= (1000 X3 X 10)/100

= 30000/ 100

H6vTl 6L 1q = 300 Rs

ol (B 6ULlg = P X (1+(R/100)"N - P
= 1000 X (1+(10/100))"3 - 1000

= 1000 X (110/100 )*3 - 1000

=[ (1000 X 110 X 110 X 110) / 100 X 100 X100 ] -1000

=[ 1331-1000]
ol (h 6UL_lg =331Rs

&l Qlllg - Fal.(h eullg UMM €(h (WPSSWIDTET CoumILITLLq 6m6dT
Qsfhg C&TEIGLID. SemGUUMHMIW (W(pemwmer Lflgemeol Qum
LM Nse|D Seudliid. @riG Heo eaflemipwimen WOMID (LPHSU
Caearalsailen SiqLliLenLulled Hevlell lg SHeuIH@Ga Hemen LMFLIGUITLD.

1. €h. 20,000 &@ 5% 60T 6Ully afHHH6L 3 LTHMHISEDHSH S
Seflaul g wWmg)?
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(A) €. 250/-

(B) €IR. 100/-

(C) €. 125/-

(D) €. 500/-

allemL: (A) . 250/-

el SLb:

Geofl euLlq = PNR/100

SI&6L (P) = 20000 Rs

6UL_19.608LD (R) = 5 % = 5/100

&IT6VLD (N) = 3 LDITG & 61T

BID eTUGUTHID HTGHSHn6T oo (H&HGHSTT & 6ufls (B Ceumib,
Q@ wrHHsald CHLI@MLUUST, HETHSHE LOTSHHISmer
wroHm Geuessr(pLD.

12 LDMGHIGET = (b I46001(H

3 DTG IS 6T = % 34, 6601(h & 61T

6TeOrGeU &HMEVLD = 1/4 34,6001 (D & 61T

) 5 1
Llg = 2 X— X -
Geofl euLl1q 0000 Too X 2

Heofl UL lg = 250 Rs

2. @@ GMUILL QFTmSWTMG d5Hm6ar aI(HLhISHafled 8%
saflalllg afg5He0 cpaTm WLHSTS &S EGLD?

(A) 8 6U(IHL_RIS6TT
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(B) 15 6U(IHL_RIS6IT

(C) 23 6U(IHL_RIS6IT

(D) 25 6U(IHL_MRIG6N

ellemL: (D) 25 U(H LIS 6T
616 & &LD:

G6ofl euL lq (S.I) = PNR/100

AgedleL  wHIUY  QAETHSHSUULaNleLmeL , eraTGeu 100  6TETM)
T (5 SHCHMTGeULD , 100 6T6vll6L eTaflemOWITE: @ (1H& (GLD.

P =100

N=2?

R=8 %

6ol QuLlg (S.I) = 200 (100 X 3 = 300 - CLPGTM)]| LOL MBISTEUSHTED, FH6L 3I&F6L
100 ; 300 — 100 = 200)

100 X ST

SHIT6VLD (N) = T

100 X 200
100X 8

&ITEVLD (N) = 25 6u(IpLhIG6iT

3. @@ WHOLLmeng Hgdh wnsd Hefl euliquims em. 10,000 Clum
el DM, allly aff anBhsHE 8% ereafled euf WHeSH
QEww Geuesdrigl CHIT6m S 6T 6076012

(A) €Ih. 25 UL &LD
(B) €Mh. 20 6UL_&LD

(C) €. 15 6VL_&LD
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(D) €Ih. 8 UL_&LD

ellémL: (C) €. 15 6VL_&FLD
el SLb:

G6ofl UL g (S.I) = PNR /100

S6fl QUL lgWIms mGD 10000 CHUML QuUMIH DT ereflev, 260016 SHS
56ofl euLlg 120000 eHLIMIL. HGCEH GUTEL &T6LLD R(h 2, 6501(H.

QmIG 1F6L eTeueuaTe 6T6iTM CHLIg(HSHMITTSHEN.
3|F6L P=?

&MevLd (N) = 1 9y, 6001(H

6ol euL_1q. (S.I) = 1,20,000 Rs

UL 19608LD (R) =8 %

100 X ST

&6V (P) = XN
. 100 X 1,20,000
&6V (P) = exi

=1,20,00,000/ 8
3|&6V (P) = 15,00,000 Rs.
4. €M 4000 - @peorLrmeorG&Hefled 5% eu@L alllgalsy Wenmuiley
Gl 196G, ol (b UL&HGW QLG 2 6Tem allGHWmFLD?
(A)Rs. 10
(B)Rs. 11

(C)Rs. 20

(D) Rs. 100
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ellémL: (A) Rs. 10

el SLb:

G6ofl UL g (S.I) = PNR /100

&6ofl UL 1q (S.I)= (4000 X 2X 5)/100

&6ofl euL_Lg (S.I) = (40000 ) /100

H6ofl UL lg (S.I) = 400

ol (h 6ULIq =P X (1+(R/100)) N — P

Faol (B QUL lq SM6uol HLoGl (Pemmenw HeTUMDmeLd.

ol (B QlLlg = (PHELMD 600T(H 6ULlq + QIESITL LD 34 6v01(H 6UL_lq +
W&HLMD 46501(h QUL 196G 6ULlq.

200

CHUMLSGE 4000 &G (WG6OMD Yo eully 5% efgSHHev
e LImul

CHUMLSE 4000 &G QUL md 6B eully 5% afgHHleo 200

CrpLIMLL.

WH6LMD 46501(Hh QL1965 6UL_lq =10 Rs
ol (h 6ULIq =200 + 200 + 10 = 410 Rs

NG HWMTEFLD = 410 — 400 = 10 Rs

5. UG peugm@Gu Um@ Jowrmelim@ . 9,00,000
CHmaulLBGEmg erefllev gyeugM@ 20% Fafl alllg leflH G
aum&luilev, eTeuauaTe] 1F6uNs QFeIHSH Caucor(Rd ?

(A) €1B. 2,00,000
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(B) €Mh. 3,00,000
(C) €. 4,00,000

(D) €. 5,00,000

ellemL: (B) €m. 3,00,000
616 & &LD:

ULy efgLd R=20 %

&SIT6LLD N =10

P + SI = 9,00,000 Rs = Total Amount
&6V P=?

P + SI = 9,00,000 Rs = Total Amount
9,00,000 Rs = PNR/100 + P
9,00,000 Rs = P X 10 X 20 /100 + P
9,00,000 Rs =P X 10 X 20 /100 + P
9,00,000 Rs = P X 200 /100 + P
9,00,000 Rs =2P + P

9,00,000 Rs = 3P

P=9,00,000/3

P =3,00,000 Rs
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